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Ομάδα
(Δείγμα)

Άτομο
(Subject)

Μεταβλητή
Ιδιότητα

ΟΛΙΚΟ 
(Total)

ΕΝΤΟΣ
(Within)

ΜΕΤΑΞΥ
(Between)

j i Χ (X – ̅ .)2 (X – ̅ )2 ( ̅ – ̅ .)2

1 2 (2 – 6)² = 16 (2 – 4)² =  4

3(4 - 6)² =  121 2 4 (4 – 6)² = 4 (4 – 4)² =  0

Ν1 =3 3 6 (6 – 6)² = 0 (6 – 4)² =  4

1 3 (3 – 6)² = 9 (3 – 5)² =  4

4(5 - 6)² =  42
2 5 (5 – 6)² = 1 (5 – 5)² =  0

3 5 (5 – 6)² = 1 (5 – 5)² =  0
Ν2 =4 4 7 (7 – 6)² = 1 (7 – 5)² =  4

1 7 (7 – 6)² = 1 (7 – 8)² =  1

5(8 - 6)² =  20
2 7 (7 – 6)² = 1 (7 – 8)² =  1

3 3 8 (8 – 6)² = 4 (8 – 8)² =  0
4 9 (9 – 6)² = 9 (9 – 8)² =  1

Ν3 =5 5 9 (9 – 6)² = 9 (9 – 8)² =  1
Ν = 12 Άθρ. Σ = 72 SST=   56 SSW=   20 SSΒ=  36
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Πηγή Άθροισμα 
Τετραγώνων

Βαθμοί
Ελευθερίας Διασπορά Κριτήριο Σημαντ. EffectSize

(source) (SS) (df) (MS) F P* η2 ω2

Μεταξύ (Β) 36 2 18 8.10 < 0.01 0.64 0.54
Εντός (W) 20 9 2.22

Ολικό (T) 56 11
* Πιθανότητα (p-value) = 0.0097. η2 (για το δείγμα), ω2 (για τον πληθυσμό).
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